N	/litcham Girls Higl	n School
	~	SACE STAGE 2
		2024
		24 601 12 B
		24 001 12 0
Please c	order online at <u>www.</u>	<u>campion.com.au</u>
	using "JH73" as your co	_
	Thursday 7th Decemb	-
	,	
**	* ALL ORDERS MUST BE	PREPAID ***
	PREPACKAGED DELIVERY	SERVICE
STUDENT GIVEN NAME(s)	STUDENT SURN	АМЕ
ADDRESS		
		STATE POST CODE
SUBURB		STATE POST CODE
PARENT EMAIL ADDRESS		
- REQUIRED SCHOOL SUPPLIED STUDENT		
EMAIL ADDRESS		
	▼ TEAR OFF SLIP - PLEASE RE	TAIN V
	RS placed by the due date will be delivered	
estimated delivery timefra	. There might be a slight chance your delive me.	ery may arrive outside the original
-	UDY GUIDES are not available until Term 2	2. There are no refunds for Revision/Study
	d on demand, Please contact Campion if y	
Payment for orders to be r	nade by Mastercard or Visa.	
	Your Retail Service Centre	Contact Us
	29 O G ROAD KLEMZIG SA 5087	08 8337 4544
A.B.N. 33 074 318 602		sasales@campion.com.au

Please ensure you keep a copy of your order, as the Original will be retained by us for office use.

Please tick the items required in the box provided \downarrow

			\checkmark			
		ltem	ltem	Qty	Unit	Total
•	Description	No.	Reqd	Reqd	Price \$	Amount \$

SACE STAGE 2

Office Use

Please Note that there are digital products (eCode or cCode) on this Resource List. These products are single user licenses and are only valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged if you do change your mind, even if you haven't used or activated them. We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects.

ANCIENT STUDIES

No resources required.

	BIOLOGY					
P34236	COMPULSORY Textbooks for Biology Students. SASTA Biology Study Guide 2024 (Term 2 2024) [SASTA]	1		1	41.25	41.25
	New Edition for 2024		-			
P32766	SASTA Biology Workbook Stage 2 (3E) [SASTA]	2		1	72.00	72.00
P50861	Binder A4 3D Ring 25mm PE Blue	3		1	6.17	6.17
	BUSINESS INNOVATION					
P55442	Display Book A4 20 Pocket Black Refillable	4		1	1.94	1.94
P55536	Exercise Book A4 48 Page 8mm	5		1	1.08	1.08
	CHEMISTRY					
	COMPULSORY Textbooks for Chemistry Students.					
P30418	SASTA Chemistry Workbook Stage 1 3E [SASTA]	6		1	66.40	66.40
P34237	SASTA Chemistry Study Guide 2024 (Term 2 2024) [SASTA] New Edition for 2024	7		1	41.25	41.25
P50861	Binder A4 3D Ring 25mm PE Blue	8		1	6.17	6.17
	-					
	CHILD STUDIES No resources required					
	DANCE					
	No resources required.					
	DRAMA					
	(Additional materials will be needed, depending on the practical roles cho	osen)				
P50140	Binder A4 2D Ring 25mm PE Insert Black	9		1	5.49	5.49
P50810	Pad A4 50 Leaf Bond Ruled Punched	10		1	1.94	1.94
P52082	USB Pocket Flash Drive 16GB - NO RETURNS	11		1	10.76	10.76
	ENGLISH/ENGLISH LITERARY STUDIES/ESSENTIAL ENGLISH					
	No resources required.					
	ENGLISH AS AN ADDITIONAL LANGUAGE					
	No resources required.					
	FOOD & HOSPITALITY					
P50810	Pad A4 50 Leaf Bond Ruled Punched	12		1	1.94	1.94
P55442	Display Book A4 20 Pocket Black Refillable	13		2	1.94	3.87
	FRENCH					
P55551	T ALL TOTT		_	1	1.49	1.49
	Exercise Book A4 96 Page 8mm	14			1.43	1.40
P65021	Exercise Book A4 96 Page 8mm Document Wallet FC Polydoc Clear	14 15		1	2.25	2.25
P65021 P56707	-					
	Document Wallet FC Polydoc Clear Whiteboard Marker Connector - Blue	15		1	2.25	2.25
	Document Wallet FC Polydoc Clear	15		1	2.25	2.25

Please tick the items required in the box provided $\ \downarrow$

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount
	ITALIAN					
P55571	Exercise Book 225x175mm 96 Page 8mm	17		1	1.08	1.08
P55442	Display Book A4 20 Pocket Black Refillable	18		1	1.94	1.94
P65021	Document Wallet FC Polydoc Clear	19		1	2.25	2.25
P56707	Whiteboard Marker Connector - Blue	20		1	2.52	2.52
	HIGHLY RECOMMENDED (FOR USE ACROSS ALL SUBJECT	S)				
P52082	(Required for all subjects) USB Pocket Flash Drive 16GB - NO RETURNS	21		1	10.76	10.76
	ESSENTIAL MATHEMATICS					
E31210	Digital MASA Yr12 Ess Maths Study & Rev Guide (Haese Code)	22	DIGITAL ITEM	1	29.95	29.95
	Digital product available via access code. Pre-ordering required. No Re		BIOINETIEM	•	20.00	20.00
P50038	Calculator Casio Graphic FX-CG50AU	23		1	276.95	276.95
	Replacing (Casio Graphic FX-CG20AU) which can be retained from pre	vious vea				
P55662	Graph Book A4 96 Page 5mm	24		1	1.80	1.80
P50852	Pad Test Graph A4 5mm 50 Leaf Punched	25		1	2.61	2.61
	GENERAL MATHEMATICS					
E31230	Digital MASA Yr12 Gen Maths Study & Rev Guide (Haese Code)	26	DIGITAL ITEM	1	29.95	29.95
	Digital product available via access code. Pre-ordering required. No Re					
P50038	Calculator Casio Graphic FX-CG50AU	27		1	276.95	276.95
	Replacing (Casio Graphic FX-CG20AU) which can be retained from pre	vious yea	ars.			
P55662	Graph Book A4 96 Page 5mm	28		1	1.80	1.80
P50852	Pad Test Graph A4 5mm 50 Leaf Punched	29		1	2.61	2.61
	MATHEMATICAL METHODS					
E31231	Digital MASA Yr12 Math Method Study & Rev Guide (Haese Code)	30	DIGITAL ITEM	1	29.95	29.95
	Digital product available via access code. Pre-ordering required. No Re		_			
P50038	Calculator Casio Graphic FX-CG50AU	31		1	276.95	276.95
	Replacing (Casio Graphic FX-CG20AU) which can be retained from pre	-	ars.		4.04	4.04
P55442	Display Book A4 20 Pocket Black Refillable	32		1	1.94	1.94
P55662	Graph Book A4 96 Page 5mm	33		2	1.80	3.60
	SPECIALIST MATHEMATICS					
E31232	Digital MASA Yr12 Spec Maths Study & Rev Guide (Haese Code)	. 34	DIGITAL ITEM	1	29.95	29.95
750000	Digital product available via access code Pre-ordering required. No Re		_		070.05	070.05
P50038	Calculator Casio Graphic FX-CG50AU	35		1	276.95	276.95
DEEGGO	Replacing (Casio Graphic FX-CG20AU) which can be retained from pre	-		4	4.00	4.00
P55662	Graph Book A4 96 Page 5mm	36		1	1.80	1.80
P50852	Pad Test Graph A4 5mm 50 Leaf Punched	37		1	2.61	2.61
	MUSIC					
P55442	Display Book A4 20 Pocket Black Refillable	38		2	1.94	3.87
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	39		1	12.65	12.65
	MODERN HISTORY					
	No resources requuired					
	OPTIONAL EXTRAS					
P58510	Eraser Plastic Pencil Large With Sleeve	40		1	0.36	0.36
P56706	Whiteboard Marker Connector - Black	41		1	2.52	2.52
P56095	Pen Ballpoint Cap Type Blue Medium	42		1	0.32	0.32
P56096	Pen Ballpoint Cap Type Red Medium	43		1	0.32	0.32
>50090 >50006	Pencil (HB) Micador Essential	43 44		1	0.32	0.32
P56414	Ruler 300mm Plastic Clear	44 45		1	0.52	0.52
-1-		40		I	0.00	0.00

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	Item Reqd	v Qty Reqd	Unit Price \$	Total Amount \$
	PHYSICAL EDUCATION					
P05917	SACE 2 Physical Education Essentials Workbook 5E (2020)	46		1	80.00	80.00
	PHYSICS					
P30419	SASTA Physics Workbook Stage 1 3E [SASTA]	47		1	66.40	66.40
P34239	SASTA Physics Study Guide 2024 (Term 2 2024) [SASTA] New Edition for 2024	48		1	41.25	41.25
	PSYCHOLOGY					
P34240	SASTA Psychology Study Guide 2024 (Term 2 2024) [SASTA] New Edition for 2024	49		1	41.25	41.25
P55442	Display Book A4 20 Pocket Black Refillable	50		3	1.94	5.81
	SCIENTIFIC STUDIES					
P50861	Binder A4 3D Ring 25mm PE Blue	51		1	6.17	6.17
P56328	Pocket Plastic A4 11 Hole Pkt 10	52		1	1.17	1.17
P50810	Pad A4 50 Leaf Bond Ruled Punched	53		1	1.94	1.94
	TECHNOLOGIES & ENGINEERING					
P50913	Clamp File A4 50 Sheet Capacity	54		4	5.09	20.34
	VISUAL ARTS - ART					
	(Additional materials will be needed depending on the practical projects c		ı).			
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	55		3	8.60	25.79
	VISUAL ARTS - DESIGN					
P55439	(Additional materials will be needed depending on the practical projects c Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	hosen 56	ı).	3	8.60	25.79
	WOMEN'S STUDIES					
	No resources required					

Number of Boxes ticked:

\$9.90

ESTIMATED AMOUNT DUE (PRICES CORRECT AT 30/10/23)

Delivery, packaging & handling

\$